7

BLAC K HORSE

OFF ROAD

(ATIENTION)

1. Please read this installation inst

Rear guard.

Whepn instell 1t please pay

INSTALLATION INSTRUCTION
GRILLE GUARD FOR NISSAN 2012

2 When you use it,please check this

_ ITEM NO: gNT JUA

ruction before installing this -

nratecting vour . Rear guard.

attentiont

such as one month or two month.

ear guard at a fix time—lapse,

No Name { Photo | Qty Remarks | No~ Name ' Photo | Qty
(7 | rear guard < L
. e G M1Z nut ) 4 M12
A 1
) il ¥10X30 bolt <j2;ﬁﬁﬁ®- 1 M10
T T3 =
| s+ lmount bracket | \ ~—p = i :
j o pvest RN 1 1=0 M¥10lock ) :
B, [lateral symmetry| / I vasher--4 1 MI10
- % =B | '
TOUTE bTaCKeT e A Ve pt S
s ' % T=h T ¥10lock e
| [ smey /| 1 RERR & | 1 W10X30
D | w1230 bolt | (}ﬁmm' 4 M12%X30
_ ol M12lock T R 4 8
£ | * washer ' Mlz
M12lock , : 4 |
F washer @ ' 12




R N

CHERTNTSC

ﬂNbiALLAiiUN STEPS)

cTEP l ‘Check +h§ parfc in the box carefully if match ghove list;

STEP-2: P7s prepare the tools for installation, follow*as lé—i/wvench 17= 19 wrench:

STEP 3: Put the mounL bracket into _the. gllder of the car, and nghuen it with the

‘ MlO”U” bolt

STEP: 4:Instzll the Rear guerd to the mount bracket, with M12X30 hex bolt;

. -

5:Installation is finished.

23
5=
o
O

. s

e e S e i R i



	170530-1
	170504-1

